Name: Weekly Math Homework: September 24-September 28"
(Please solve math problems on a separate sheet of paper)
Monday Tuesday Wednesday Thursday
The zoo fed their tigers 8 | There are 12 markers in Susie got |12 stickers for It took Grace 3 minutes to

pounds of food yesterday
and |0 pounds of food

today. How many pounds

of food did they use in all?

the red box, and 6
markers in the blue box.
How many more markers

are there in the red box

than the blue box?

her birthday. She gave 3
to her sister. How many
does she now have?

brush her teeth, 5 minutes
to get dressed, and 8
minutes to eat breakfast.
How long did it toke Grace
to get ready?

In December, Josh
purchased 89 logs to burn
in his fireplace. He burned
23 logs in January, and 32
in February. How many
logs does he have left
over?

There are 23 worms in a
mud puddle. After it
rained, only 8 worms are
left. How many worms
were washed away?

Chris started out with 7
red marbles in his
collection. He got 18 more
for his birthday, and 23
more during the year.
How many marbles does
Chris now have?

Angela made 23 cards for
her friends. She wants to
make |9 more cards. How
many cards will she make
in all?

Count forward by fives.

Count forward by tens.

Count forward by

Count forward by fives

88, , 121, , hundreds. 65, , ,

40O, )
Solve. Solve. Solve. Solve.
8+10=__ B-1I=__ 2+8=___ 3+9=__ [7+8=___ 0-8=__ 5+8=__ S+2=___
2-9=__ 2+9=__ 9+9=___ S+YH=___ h-6=__ Q+Y4=__ 2+6=___ 6+8=__
l+7=__ 5-3=__ S+6=__ 7+8=__ 6+I5=__ Q-6=__ B+6=___ 7+3=__
Solve. Solve. Solve. Solve.
2+10=__ 6-12=__ |9+8=__ 7+9=__ | M+8=__ B-1=__ S+3=__ S+3=__
B-7=__ l+7=__ |6+9=___ S+2=__ |5-6=__ b6+H=__ | 2+7=__ 6+4=__
S+4Y=__ B-9=__ |8+6=__ 6+8=__ |6+0=__ [7-12=__ |8+5=__ 7+2=__

18.

Use a strategy to
find the sum of 69 +

Use a strategy to
find the difference

of 77 -29.

Use a strategy to
find the sum of 34 +

S7.

Use a strategy to
find the difference

of 56 - 37.

Solve.

8+5=__ 3-5=__
2-7=__ 8+ll=___
9+10=__ 7-8=__

Solve.

3+7=__ 3+l=__
9+5=___ Y+Y=___
8+9=___ 9+8=__

Solve.

2+5=__ 7-9=__
7-6=__ B3+Y4=__
8+12=___ 2-5=__

Solve.

8+7=__ 6+2=__
Q+l=__ S+H=__
8+H=___ H+8=__

How many inches is the
pencil?

Susie’s dog is 2 feet tall.
When she measured her
dog using inches, he was 24
inches tall. Why did the
number increase when she
measured with inches?

How many centimeters is
the paper clip?
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Josh’s desk is 36 inches
tall. When he meaured the
desk using a yard stick, it
was | yard tall. Why did
the number decrease when

he measured with the yard
stick?




